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Rajasthan CET 2024 Sr. Sec Level Paper 22 Oct 1st Shift
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¢ Energy Summit 2024 organized?

(A) Paris (B) New Delhi
(C) Abu Dhabi (D) London
(E) Question not attempted

fog qﬁwaﬁﬁ@wﬁmzoﬂ-ﬂfmﬁaﬁmw
(@ wEft’

4 Where was the World Futur

(A) uf@
©) ¥ - @
®) IARaTA ‘
5 India- Japan 5t edition Joint Military Exercise ‘DHARMA GUARDIAN’ commenced in which state of
India?
(A) Rajasthan (B) Tamil Nadu
(D) Andhra Pradesh

©) Himachal Pradesh
(E) Question not attempted
ST “oH S T 3 FoR T H E g2

Af TEAH B) dfrTg
©) femarer (D) T
(B) g g4
6  Which of the following team emerged champion of the Santosh Trophy (2023-24)?
(A) Manipur (B) Mizoram

(C) Services (D) Goa

(E) Question not attempted
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In India General elections for 18th Lok Sabha were completed in how many phases?

IR 8 1 8ff Aot 3 oI AT AT ey =it 3 qof g2

A) 6 7

© s 0 (D) 4 .

(E)  Question not attempted [ mﬁa b e N B’9Oo and
b ZC =25°, Za=4%£

If it is given that for two rlght angled triangles PQR and ABC, £Pp =25°,

PR = CA, then which of the f6llowing is true?

Wﬁ%ﬁmw%%amﬁwﬁml{@mcﬂ /P =25°, LC=25° LQ= ZB” 90° T P
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14 Select the most appropriately matched pair of crops.

(A) Rice - Rabj- Basmati (B) Maize - Rabi - Vijay
(C) Rice - Kharif- Shakii (D)  Wheat - Rabi- Sonara
(E) Question not attempted
Il 3 TR T @ ey it
(A) IS - Tt - STt (B)  HeHT - Wt - T
(C) ¥ - EiE - iRy @) - -
(E) 3rgufita wsy
15 Who classified blood in different groups?
(A) Karl Landsteiner (B)  Louis Pasteur
(C) Robert Koch (D) Edward Jenner
(E)  Question not attempted
forert v o faforsy et i anfrper e
(&) S AT (B) TEUmER
(C) Vo= (D) Teag st
(E) ogaf@aws

16  Which of the following antibody is found more in mother’s milk?
ﬁw%%aﬁéﬁ%zgﬁaﬁ?m@aﬁf (fcrceft) Stferehar & wra ST 22
(A) Igh (B) IgG
' IgM (D) IgA
"(E)  Question not attempted / 31@?1‘?@ 94
17  Match List-I with List-II:

List-I List-IT
(Deficiency disease (name)) (Symptoms of the disease)
a Pellagra L Memory loss .
b. Beri-Beri I.  Weakness in muscles and nerves
c Scurvy . Appearance of dry scales on tongue and skin
- d Riboflavinosis IV.  Bleeding from gums
gt -1 gt -1 @ g Afs
et - Tt -1
(arquteT {rm) (@ 3 e
a. Oam L wfa o e (e
b. I I R ofe et o geferan
c. EHdl : UL Sfioy SR eorem o g vreent ot forad 3 -
d.  TgEredEIEd IV. WG A
Choose the most appropriate answer from the options given below:
e fau g fercat # & wrarifere suges s g
(A) a-Ib-Nlc-Ld-1V B) a-1V,b-Lc-1Ld-11
(C©) a-Lb-I,c-1Ld-1V Q}' a-lLb-1,c-1v,d-1

(E)  Question not attempted / 3Tafa w1
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ced on 19
18  The fourth edition of the ‘Shanghai Cooperation Organization (SCO) Startup Forum’ was organis
March 2024 in .
(A) New Delhi (B) Moscow
(C) Bishkek (D) Shanghai
(E)  Question not attempted : el
“TTEITS TR} e (i T ) T B oH < HeeRT 19 H1e, 2024 1 3 senferd foT
aml
w78 et (B) HiER
©) fosks D) ¥
(E) rgaf@ws
19  Match List-I with List-II
List-I (Country) List-II (Position of medals tally
in Paris Olympics 2024)

a.  China i 3¢

b. Britain i. 4

c.  Netherlands i, 20

d. USA iv. 1%
-1 1 forerr g=fi-11 3 | hifsg

-1 (39) Teft-11 (e siteifes 2024 F
Trger it <y Rafa)

a. == 1. daa

b e ii, =

c. Trawdsw fii. @

d.  Jwm iv. e
Choose the most appropriate option from below:
T o & wad Iugeh fohed 1 = HING
(A)  a-ii, b-i, c-iv, d-iii (B)  a-iii, b-iv, c-ii, d-i
@y a-i, b, c-iii, d-iv : (D) a-iv, b-iii, c-i, d-ii

(E)  Question not attempted / AN
20  Who became the second Indian to win a gold medal at the Asian Marathan Championship in 20249
(A) Srinu Bugatha (B) Man Singh
(C) GopiT (D) Kartik Kumar
(E) Question not attempted

e SRR 2024 7 Tl gae S el GH AR I 2

(9 I ®) wfiE
(C) T (D) i FAR
(B) STguia A
21  Which country has emerged as the world’s second largest producer of Mobile phones?
(A) Germany (B) India
(C) United States (D) Vietnam

(E) Question not attempted

7 T 3 AT T AT Fe STST HISTEE Wi IeqTaeh Q37 SHeht ST &2

7 il @B W@
(C) TS RM ' (@) frram
(E) FaRasd
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Choose the mogy appropriate reported form of the sentence given:
He said to us, “Don’t walk on ice; it isn’t safe.”

He warned us not to walk on ice as it wasn’t safe. 0
(B) He orderefcﬁis not to walked on ice as it weren’t safe. <t
(© Hetold uswis avoid walking on ice as it isn’t safe. L{\'
(D) He said n(‘)zé't?o walk on ice as its not safe. t:!
(E) " Question ft attempted ;——{
Choose the mostappropriate option to fill in the blanks: ™
I her _i“g long time, ____ she was a child. 7
knew, x, since (B) have known, for, since
(©) was knowing, since, since (D) know, since,‘;gsr
(E)  Question A6t attempted o

i

Read the passage andfz’\'ﬁswer the questions that follow by\choosing the appropriate answer : (Q. 24 to 28)

24

Once we have se’_t_ﬁi%d on a perspective, we close off with one line of thotight. Certain kinds of ideas occur to
us, but only thosgg!(;inds and no others. What if the crippled man who in\}é”xi‘ted the motorized cart had defined
his problem as, 5H(!)w to occupy my time while lying in bed?” rather thﬁE“How to get out of bed and move
around the housq‘?;i i

Leonardo Da Vipei believed that to gain knowledge about the form of Eroblems, you begin by approaching
the problem on its own terms. He felt the first way he looked at a problem was too biased towards his usual
way of seeing tkgénwgs. He would restructure his problem by looking at it?rom one perspective and move to
another perspectiqy;é and still another. With each move, his understanding would deepen and he would begin
to understand thgggssence of the problem. Da Vinci discovered that geu%xés often comes from finding a new
perspective that fid'one else has taken. RO

Albert Einstein V‘Vgé once asked what the difference was between him andihe average person. He said that if
you asked the ain%ge person to find a needle in the haystack, the persofi™would stop when he or she found a
needle. He, on tfie}other hand, would tear through the entire haystack ‘lﬁ%)kjng for all the possible needles.
With creative thi‘ir.l'llging, one generates as many alternative approaches as one can.

Most of us have been educated to think exclusively which means we thirnkiin deficit by focusing our attention
on specific infoﬁ?}ation and excluding all else. In these instances, ex@liisive thinking leads us to neglect
potentially impﬁi;ant pieces of the puzzle. Exclusive thinking doesn’{falerely inhibit irrelevant facts and
perceptions. It can; also smother the imagination. \ﬂ’

Creative thinking;-;s inclusive thinking. You consider the least obvious a$ ell as the most likely approaches,

and you look for-different ways to look at the problem. It is the willinglxg;ss to explore all approaches that is

important, even{after one has found a promising one, v
Identify statemefits which are true with respect to the passage:
a. Our settled perspective towards a problem makes us focus&g one line of thought only

b.  Leofiardo Da Vinci always solved a problem in the first at pt.
c. AlB’e’ft Einstein would look for as many alternatives as he gpyld to solve a ﬁroblem
d. Exg:ﬁgsive thinking enhances creativity and imagination, <t '

Choose the masfé/:propriare answer from the options gjven below: 0
(A) bandc only “(‘B{N a and c only v}
(C) canddoply (D) aandb onlyh
(E)  Question pndt attempted L
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Which of the following statements are not true with respect to the passage?

a With creative thinking, one generates as many alternative approaches as one can.

b.  Exclusive thinking leads us to the important pieces of the puzzle.

c. Inclusive thinking makes one look for different ways to look at the problem.

d. Exclusive thinking makes us broaden our attention and look for potential alternatives-
e. Creativity and inclusive approach go hand in hand.

Choose the most appropriate answer from the options given below:
(A) banddonly (B) candeonly
( d and a only (D) aandeonly
(E)  Question not attempted

The features that define creative thinking are:

a. Multi dimensional approach
b. Willingness to explore
c. Biased approach

d. Not easily satisfied
Choose the most appropriate answer from the options given below:
(A) b,canddonly ‘/63'{ a, band d only
(C) a,canddonly (D) a,bandconly
(E) Question not attempted
According to the passage, the most important thing with respect to solving a problem is:
(A) To change our education system (B) The willingness to explore all alternatives
(C) To be focused with one line of thought ’ Learn to look for facts
(E) Question not attempted '
Choose the Antonym of the word SURPLUS from the options given:
(A) Inhibit (B) Biased
(C) Deficit }arf Smother
(E) Question not attempted

The ancient name of Jaisalmer was

(A) Mand (B) Hadoti
(C) Shekhawati (D) Vagad
EB) 'Question not attempted

ST T Y= A1 oT-

y @i (B) EH
© EEE D) g
(E) Iguia ¥
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Select the incorrect statement about subtropical mount
below:)

(A)  Subtropical Mountain forests are found only in Mount Abu region in Rajasthan,
(B) In theﬁpforcsts, greenery is available permanently,

©) Thcscq\grcsts can be found in Sirohi which is situated in Ra}zi’s"than

(D)  Thesq fgrests are found only in Raj
(E)  Question not attempted i
STt treleter o 35 it 3 overear s T ) (e 3 8 i 3 e )
(A) @Wﬁ?ﬁuaﬁmm%mméﬁmm%
(B) mﬁfizﬁaﬁwﬁwémmﬂ% [
(C) IS R B urw s ¥, 5t FoF oo § Rerg 2 v

ain forests. (Choose the most appropriate option from

L4
asthan and Uttar Pradesl'l.J :

(}X TE S hae TSR qT I SR & Qo )

(E) iqaid s

Which of thg?:é)llowing is the biggest geographical region ( area
(A) Araval@gegion

(C) Easteryplain region
(E)  Questioq not attempted el
Tefeiaa R TrsreerT o1 wardt T siiiereh &7 (Sl 3 ) FITETR?

Y9
wisé) of Rajasthan?
(B) Westerhidesert plain region
T
D) Semi dry'region
®) %f) g

(A) IEAET syt oty AaT 8

(C) T A & (D) o7y &

(E) Srpaigm (0

Which of th&-following Indian states/union territory has the highest:number of wildlife sancturies?
(A) West 'lgéngal (B) Andamhf)and Nicobar Islands

© Laksklic}weep

(E)  Question not attempted .
P #8582
(A) ufE e B s 39t Pt i w

(C) (D) e Ry
(E) srfaigue g

{3
Which of th€following is shortcut command for print in MS Ofﬁcé?ﬂ
w3 fire % o Fe & 20w andere i \

(D) Himachal Pradesh
)

o W
(A) Shift CH ( Ctrl + pf
(©)  Al+Cprl+P (D) Alt+p'®

(E)  Quesfion not attempted / 31Taftd g i
There is certain relationship between the two terms to the eft of :5‘;?‘] the same relationship exists be"e*"
the two terms to its right, Then find which option would replace t

& Anff TR W1eE % N FO W B sfcafy he question mark?

] Lor] Q4 ) d 5 mma};ﬁw e

% % varrar @ a1 faaed s v aﬁ?raﬁm%,wwmﬁ“a'”
GKLP ngz .. ABFJ 1 ;)

*) KLP‘TQ (B) Moprsyt

(€©) MOTR

Dy Kopr W)
(E) Ques;_tion not attempted / aﬁvﬁaw M i

i [P.T.O-
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35  Choose the box that is similar tojthe box formed from the given sheet of paper.

W
ST shY &) et gfte (AST) | S ST 6 5 i vt
% o 10
\0 o
o ¢
t\‘w . rh»’*
- s -1
H
\o 8
&b s e
Choose the appropriate option g!i\;ggn below: !f}
= R e 3w feea AT D @
(A) V//////’ ?t:j - ®B) 0 ﬁ
/A e | ' ?“3
[ ]
© | & < g -
(E) Question not attempted / %ﬁ'ﬁ A . 1@
36  Trefafiad § 1= gevaTe qeATR- X \9,/ P
a) # ;‘j B 3 !
(C) =™ il (D) ™ i;:
(E) <A@y
37 ﬁw%r@aﬁaﬁmﬁéwqﬁ%w o
(a) FrEd :?; o1 i e
(C) et D) 3 g
(B) wgaRawd \0 O
38 gE-IHREAI %gir%mﬁﬁé[':‘ g
geft-1 -1 HEft-11 vl
(&) (feram)
a. THUAGEEIE tg A - A e &
b.  a&Id g 8l Ta . o R E
c. ﬁmmﬁmzﬁ@rﬁajﬁ’qaam%n . v fomar ,q‘
d. 98 g ud a9l 'g v, T forar \‘3
S| fererdt # & wrartforer ITe SO T N,
@AY a-1v,b-1,c-1,d-11 ¥ (B) a-1V,b-TLc-1,d-1 i
(©) a-ILb-1V,c-1,d-1I (D) a-lLb-Le-NLd-1V
(B) Ira s
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39 Take the given statements to be true, even if they scem to be at variance from commonly known facts, Then
decide which of the given conclusion logically follows from the given statements:
Statements: No magazine is newspaper.,

Some newspapers are books,
All books are spoons.
Conclusions:
L. Some magazines are books.
II. Some newspapers are spoons.
(A)  Only conclusion II follows.
(B) Both conclusions I and I1 follows.
(©) Neither conclusion I nor conclusion II follows,
(D)  Only conclusion I follows,
(E)  Question not attempted

ﬁqﬂqwﬁaﬁmnﬁwﬁaﬁmw: mwﬁmﬁmwamﬁﬁqmmﬁémw

P T
IS oft vt T T ® gt@
TS TR Tedish 3 7\
Tt geaeh wE ) NV
Igwqﬁmrqgw%%l
1. O 999K - 0 s ) _
s e e 11 st s 3 (B) 3 e 16 11 s s
(©) qa’rﬁw&mﬁwaﬁﬁmnmma (D) e fened 1 sreror et 2
(E) S¥afa g .
40 ﬁnﬁ%aﬁ&*m-m*wgwmmmf%- k/
(A) FUH-ax B e - wwe
(© @9z -zrft (D) &f - FlET
(B) sgafaws
41  Chief Minister Corona Sahayata Yojana is operated in the entire Rajasthan since
(A)  April 2021 (B) May 2021
(C)  June 2021 (D)  March 2021
(E)  Question not attempted ‘
Waﬁﬁmmﬁmg}wﬁwﬁm@
&7 e 2021 (B) w2021
(©) 312021 (D) w2021

(E)  safaag :

42 BHADLA SOLAR PARK is located in; .
(A)  Jodhpur (B)  Udaipur
(C)  Bikaner (D) Jaipur
(E) " Question not attempted '
WS It gt Tt & 1970 W 3 fewm 89

Sy B)

(A) (
@ dE (D) smgT
E) 3yafwaad

( 10 '~ [PTO.
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T . . N . . . ing
As cited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the planf

and strategy of wars, lived in was called as — (Choose the most appropriate option from below:)

(A)  Sainya Durg “?, (B)  Parikh Durg gt
(C) Paaridh Durg ';,} (D)  Sahay Durg 1)
e ]

(E)  Question not mlcmp_ljad ;'vi i )
Sverr s e 35 ST A SRRt & TS o6 o febett STef 7 bl AT aﬁf_‘?nm‘lﬁmﬂﬁg‘”@ia‘a;
TEa O SR e S o (ﬁ?ﬁ@w@fmﬁaﬁqgﬁg [

(x{ A gt (B) urtr@ g
(©) urdugt e (D) wEE g
(E) ¥gaia w “
People of which Civilizatidn buried their dead with jewellery and ornaments? 7:
(A) Kalibangan l?; (B) Ahad 0
(C) Bagor -~ (D) Gilund ”
(E)  Question not attempted oo
foFr T 36 T ST AR ST 35 FT FHA A7 L
w B ) TS 4
amir v ) frere
(E) AT = o
Karpur Chand Kulish was‘t@e founder of which newspaper? ey
(A) Punjab Kesari Ty (B) Rajasthan Kesari &Q
(C) Rajasthan Patrika et (D) Dainik Jagran [5.
(E)  Question not attemptéd r’:!
%{(éﬁ@%w%amﬂ#%ﬁwwﬁ? A< [
(A) wEwed (B) Tsre el s
©) wsEmTEE @y 2
(E) ﬂaﬁﬁﬁ a4 \3
The spread of which revolition enabled India to achieve self sufficiency in food griins?
(A) Yellow Revolutiong (B) Blue Revolution 1‘5:3‘
(C) White Revolution e (D) Green Revolution !‘é
(E) . Question not attempted .
mmﬁéﬁm%m@mﬁﬁmﬁﬁwmmﬁﬁwgm? {\I
(A) et wifd [~ , () et wwifa 1o
(C) wE Fifd v=4 @f  wfwwmifa
(E) wAgafa a4 15
Planning Commission wa‘ggt up under the Chairmanship of- it
(A) President T (B)  Vice President tﬂ‘)
(C) Chief Minister  «ft (D)  Prime Minister ,‘3‘)
(E)  Question not attempfed a-:I
airorT i 1 e ferr oy sy i o g o P
(A) Tl [:{ ®)  swagaf o
© Tow FONRL L ‘

E) 3ufayd

(
11
S171 % | P'T-O_



48  To protect goods produced in India from imports, Government made use of-
(A) Tariffs (B)  Both Quotas and Tariffs
(C)  Neither Quotas nor Tariffs (D)  Quotas
(E)  Question not attempted

Wﬁwﬁaaqaﬁaﬁmm%wﬁ%ﬁ%qmﬁﬁwwmﬁmn

(A) DY e i e A
O TR 1 6y (D) =
(BE) otgafawy
49 Thewa Art is associated with which of the following areas of Rajasthan?
(A) Jaipur (B) Pratapgarh
(©) Jhalawar (D) Churu
(E)  Question not attempted
TSTET 5 T et ey 3 9 Forer ey & ity 29
(&) R @ s
©) FrETS D) I&
(E) <Igai@wy
50  “Mahi Bajaj Sagar Project” is a joint Venture of which of the following Indian states?
(A) Madhya Pradesh and Gujarat (B) Rajasthan and Gujarat
(©) Madhya Pradesh and Punjab (D) Rajasthan and Madhya Pradesh

(E)  Question not attempted

AT SIS AR e Frffen 3 & v 3 e gt o s s 20

(A) e R ST TG TSTEIT TR oRIT
©) rrwu%sraﬁtw% 3% mmaﬁtmw
(E) gaiayd

S1  Given below are two statements:
Statement (I): Alluvial soil is found in Western desert plains of Rajasthan .

Statement (II): This soil contains enough quantity of Nitrogen but lacks in Potash and Iron.
In light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are false.

(B) Statement (I) is true but Statement (II) is false.

(C) Statement (1) is false but Statement (II) is true.

(D) Both Statement (I) and Statement (II) are true.

(E)  Question not attempted

F2 g e fom T E -

®AT-1 ; mwm%ﬁﬁmmﬁmmél

wUT- 11 :wﬁ?ﬁm@mmwﬁﬁaﬁ%éﬁnmaﬂwﬁgmaﬁmma

v a3 e e e & et e e

A9 a1 i 11 S e ) (B) R | el & foemg et 11 et )
(C) ooy 1 7T & fobe] U 11 el R (D) o 1 3 e 11 3t el )

(E) orquftaad
S17] ‘@ 12 [P.T.O
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“Namcha Barwa Peak” is located in which of the following regions of the Himalayas?

(A)  The Arunachal Himalayas (B) The Himachal and Uttarakhand Hima
(C)  Kashmir Himalayas (D) The Darjeeling and Sikkim Himalayas
(E)  Question not attempted

e ST Rree e & fafafea 7 @ g &3 3 safea 2

layas

(A) I ferer @y fenrae st swrds ferre™
(©) i fere | (D) =R 3 ffiere femer
(E) ARy

‘ , N . . 3 t
Pangong Tso’ lake is situated in which of the following sub divisions of the Himalayas? (Choos€ the mos

appropriate option from below:)

(A) Darjiling and Sikkim Himalayas

(B) Arunachal Himalayas

(C) Kashmir / Ladakh or Northwestern Himalayas
(D) Himachal and Uttarakhand Himalayas

(E) Question not attempted

it it ehter e & frefafaa § & fore sude o uTE STt 82 (e & T 3uRs ferened )

»y arfSifeiT o fafer femme (B) U= fede™

(C) R/ =@ AT S i e (D) Teuree iR STEs ferme™

(B) rgaiaysd

Which is not a function of the State Human Rights Commission? (Choose the most appropriate option from
below:)

(A) To discourage the efforts of Non-Governmental Organizations working in the field of Human Rights.
(B) To visit jails and study the living condition of inmates.
(C) To spread human rights literacy among the people.
(D) To undertake and promote research in the field of Human Rights.
(E) Question not attempted : .
5T HEETRIGR ST 7 HH-a1 i Tei 82 (Frfraa & & v ST ferehea o)
(AS T 3 dr  e er Se et we
(B) éﬁmaﬁnmaﬂt%ﬁﬁﬁeﬁmﬁuﬁfsﬁrmml
©) ST 3 offer ATETTIeRIT AT&TdT SRl ST R
(D) RT3 T B ST ST ST ST Sl

(E) SAgaiayd

By which Indian Constitutional Amendment the ‘Gram Sabha’ has been given a Constitutiong) St

(A) 73rd (B) 74th atus?
(C) 751h (D) 72nd

(E) Question not attempted

fra g meﬁﬁﬂmwﬁmw%‘?
(K 73at (B) 74at

() 75at (D) 724t

(B) gaRasA

S17] ﬁ 13
‘ [Py
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56  Which of the‘following words has been added to the Preamble by the 42" Constitutional Amendment?
(A) Equai;{y (B) TIntegrity “£
(©) Fraten}nty (D) Liberty ! b
(E) Questtpn not attempted H)
ﬁmﬁﬁaﬁ%ﬁwmmu&aﬁmwﬁmmmﬁmwé?
(A) WHHEAT B)  smEar .
(C) sy (D) Tear |
(E) rgai@wy rf
57  Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from belowk): Lty
(A) Notﬁfﬁying minimum wages to workers (B) Banning thé‘;usc of loudspeaker after 9 pm
© Deli?@ring a speech (D) Banning df' tobacco products
(E) Question not attempted o
g # FeiciRae & =i w vt s st seam 2 (ﬁwﬁﬁmﬁmﬁmm )
)/({ TR T HTGH T ST o (B) m9aﬁ%mmmnﬁw’am
© W (D) wF=TE m_mmm
() STIRig o |

The Preamble of the Indian Constitution starts with the phrase (T}
(A) Withfthe name of God..... (B) India a Sovereign, socialist
©) To secure all citizen of India

..... (D) “We the peoble of India™.....
E®) Queiﬁdon not attempted 5;3

T W o6l ST o i & 3 e 22 el

(A) w%;@q%m ..... (B)  MRA U THCITEU, GHISETEL. ...
(C) A % |l TTTieht sh geam

..... o “TH I ...
(E) ag?@q%r
59 In19

83 Q ich of the following Commission/Committee was appgét}ted by the Central Government to

examine andfev1ew the Centre-State relations in all spheres and recommend appropriate changes?
(A) Sarkatia Commission

(C)  Ashb’Mehta Commission
(E)  Quettibn not attempted

(B) Rajamannm'Commlttee
(D) Hanumanthigiya Commission

o
1983 %, mh‘amﬁm-mmﬁmsﬁtmwwmmﬁﬁﬁmm%mwm
m & fora STt o Pl o oy
) ETERTET A (B) T i
(€) W?[ﬁ(gmam’m

. ) g
(E) ' i%w NFEI

60  Chairman ofjRajasthan Public Service Commission is appointed by ‘YNCh one of the following?
(A)  Govethor (B) Chiel‘.luslicy of High Court
(C)  Chairman UPSC (D)  Chief Mitigter
(B)  Quektion not attempted =
TSTEAT Sy dam i o sveres o) Faagfen Fomfafiaa i @ frw & gro Sromd 2
M, T (B)  Ioe AT 36 e =T
©) woggdvaHd (D)  weuwHh
(B) wguf@ws

S17] @ | 14

[P.T.O.



61

62

63

65

S17) o,

Join Telegram Group "HaryanadJobs.in"

Which is the dialect of Kota, Bundi and Jhalawar region of Rajasthan?

(Choose the most appropriate option from below:)

(A) Malvi (B)
(C) Bhili (D)
(E) Question not attempted

T S e, St SR ATATS &6 <hY sttt 3 &t /7

Hadoti
Wagadi

(Frer i & TR ST e ) W/
(A) S
(©) ofel (D) @
(B) gaiaw
In Rajasthan Bichchiyo, Lalar, Nokhila and Shikhar are:-
(A) Folk Songs (B) Folk Dances
(C) Playing Instruments (D) Folk Dramas
(E) Question not attempted
ST, ifare 37t Rrer tseam & 3l
it Tt ®) BT
(C) drmEA (D) Y e
(E) gaRays
Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
(A) Gogaji (B) Pabuji '
(C) Devnarayan ji (D) Ramdevji
(E) Question not attempted
ﬁﬁqmﬁw@m{@aﬁ@%wﬁmwm%ﬁwﬁq@fmﬁ%ﬁ
T sft (B) ugsh
(C) AR ST (D) THeE St
(E) Iguiayd
Where is marble dumping yard in Rajasthan?
(A) . Bundi ~ (B) Kumbhalgarh
(C) Bikaner (D) Kishangarh
(E) Question not attempted
TeredT & AT eftd aré el 82
(Aa) & (B) _ F™IeTTe
(C) diwT <07 P
(E) <gaf@yd

Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:

(B)

(A) 11 October 2022
(C) 19 December 2023 (D)
(E) Question not attempted

(A) 11 TFZ 2022
(© 19 s 2023 ('D(
(E) Igaf@yy

15

15 November 2023
12 December 2021

mﬁwwmmmmﬁmewﬁ

15 T 2023
12 fedsw 2021

[; PTo
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66 IS IR =R s b oref - -
(4), T 5) it & Sfta frer
(©)y STt ufad s (D)  FERE™
(B) ST way o
67 T W1 ¥ Sl o v 2 aren e 2. |
&) vde (B) oA
ALy i () arh
(E)' i@y

68 A ray of light is incident on a

. plane mirror normal to its surface. The angle of incidence and the angle of
reflection are y

° 0o i : =
(A) 90°0 respectively B) 09£90° respectively
(G):z 0°, 0° respectively (D)  90%90° respectively
(F?ﬁ Question not attempted ‘ o
@fﬂﬂaﬁwmﬂmﬁ@%ﬁm%aﬁﬁaﬁmﬁﬁﬁ%wé:anmamaﬁtméﬁﬁwéﬁ-
/%/ww 90°, 0° (B) R 0°, 90°
)" FL: 07, 0° (D) T 90°, 90°
(E) i@ y

69  Two identical prisms P, and P, are placed as shown in the ﬁgﬁre. A narrow beam of white light is incident
on‘glass prism P; as shown in the figure. The emergent beam?i;}*?m the prism P, falls on the second prism P,.
T& resulting emergent beam from prism P, on the screen coflj}!ains:

b A P O
LA - . = i
5 e

P, A

(%b Spectrum of light as VIBGYOR form bottom to top oé?_le screen
(B): Beam of white light on the screen Ly
(©)) No light is obtained on the screen :ﬁa
(D) Spectrum of light as VIBGYOR form top to bottom on'the screen

(Es} Question not attempted . ,
Sy frew Py S Py 1 58 A0 T ST & S i 3 et &1 e ot e e o v e
f53 p, o safe o s & St i ooy e e &1 vt B, < Pk Rreorger e py ot gl 1 R b

o . . .

1 Ut fertorg T ST 9 TSt 2 I g 2 O
-

o 1y

8 <

b7 W

-

4 Ly

(&) R O A 8 FYL, TH F T2 VIBGYOR & 97 v

(BY e ot 4 BT T feRrgs

(C) U YT IS THIT T g .
D) e e S A A, SR B S VIBGYOR ¥ w9

(E) Srgafia ¥

$171] ‘ﬁ, | 16 | ~ '[P.T.O.
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_L frOm
The angles of elevationiofi the top of a tower from two points A and B at dlstqnce pandq resf’e"tlvely ’
the base of tower and inthe same straight line with it are complimentary. The hcu,ht of the tower is:

e 3 i Fagi A of, i o e e gt & e H A
o ST IV T &1 HATY 6 SreiTé R | ‘B

= e : .z
a) NPA e ' ®)  (rp? ;

©r plq v | D) P4
(E) Question not attempted / Wﬁﬁ 99
If the lengths of diagonals of two squares are in the ratio 4:7, then the ratio of their areas is:

aﬁa‘rwﬁ%%mﬁﬁmammm4 7 €1, Ik Al ST B A

© 21 - ;@9/2:7 < v, 93

(U} 13 ,
(E)  Question not attempted / AR T : =] : )?é - %
Select the incorrectly natched pair of biosphere reserve and its region. ;"‘“f«: =5
(A) Thar Desert - Rajas?than (B) Kanha - Madhya Pradesh, Uttar Pradesh
(C) Manas - Assam : : ' (D) Nilgiri - Karnataka, Kerala
(E) Question not atte.mbted ' e

FIET-HET T, ?m’u?m

a;l:)za WﬁT{ %éﬁasﬁ%aﬁrwam =

i;g} A5y T(D) e A1, %@:p

( ) aﬁﬁﬁ?fsr%r =i ' o
Select the incorrect stat!ément about the genetlc code 3 foe
(A) 61 codons code f%riammo a01ds ?"*%
(B) UUU code for phenylalamne

(C) AUG only acts aigfntlator codon and has no other function. k{:
(D) The codon is tripjet, r E
(E)  Question not attempted &l
AT Tz (ST 1) & T # Ted e bl AU Y
(A) 61 FrEm Ay st & oy peoRaa F 8 w
(B) UUU ﬁaﬁaqarﬁg T e T 8l , ' b~
(C) AUG Faa i FIET 35 T B e T ] TR 371 v v e 7
(D) #reH fgudie (PramyFrarel ‘ O
(E) wrufamg < gt
- Which of the followxng,'ﬂrog,enous base is not a component of DNA? iy
(A) Cytosine (B) Adenine <t
(©) Guanine :g (D)  Uracil :2 ,
(E)  Question not attempted b
ﬁw%f@aﬁﬁﬁ?mm@ﬁwav(m)ﬁv‘!wmm%? )
(A) | _ - (B) W

© wrHe ; ' QY R

(E) orgafayy ’ '
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What is “Fly in” in MS power point?

(A) Page design (B)
(C) System command (D)
(E)  Question not attempted

TH T T Uige & “Felts (Fly) 7 1 29

Animation effect
Colour scheme

(A) I g '_ B ufE
© Frrwis (D) e
(B) IqaRawsr

Which of the following statements is NOT true about floppy disk?

(A) Datacan only be read or write when write protect notch is closed or covered.
(B)  Floppy disks are made up of Mylar Plastic.

(C) Mylar Plastic surface is coated with iron oxide (magnetic substance).

D). On_ly 1.44 MB can be stored in some versions.

(E)  Question not attempted

%aﬁmmﬁmm%@mm%wmﬁ%ﬁmﬁmmgmal

@%@%Hﬁﬁ%@aﬁ@ﬁmwmﬁ%

77

78

79

)
AT ek rger wenfies & s St )
(€§ Wwﬁwaﬁrmaﬁgﬁm@aﬁamﬁéﬁaﬁ%

TS EHIT T et 1.44 welt € vt fvar ot e 2
(E) SAgmiawsy

Ethanoic acid reacts with carbonates to form -
(A) Salt, carbon dioxide and water only (B) Salt, ethane and water only

(C) salt and water only (D)  Salt,nitrogen dioxide and water only
(E)  Question not attempted

TS 3TReT ShIa el o AT SARIBHAT F0h ST -
(A) FHAA TIAVT. FHTe STEIATHATES ST ST (B) IS AT, T IR ST

(©) e T S e Oy, T i st
(E) rguidywyd

The property of carbon which is responsible for the formation of long chains is called:

(A) Sublimation (B) Carbonation

(C) Hydrogenation (D) Catenation

(E)  Question not attempted

FTEH i e U ST T AEETd S o TTq Swerh &, sherar &:

(A)  Sedara (e aTH) (B) it

(©) TR Oy WA (siaem)

(B) sygaRawd |

Electrolysis of dilute aqueous NaCl solution was carried out by passing 20 millj
required to liberate 0.02 mol of hydrogen gas at the cathode is :

0 Steftr NaCl farers o1 farga-srawest 20 freft uftare awr srenfi s e wrm aveive e ergaior e 3 0.02

ampere current. The time

e 1 oep 0T o foIT v aTelT ST 9e: a9 & -

2 4
(A) 2895x 10%s (B) 193 x 104
(©) 38.6x10%s (D)  9.65 x 10%s

(E)  Question not attempted / 3TaRed 7%

$17] ﬁ 18 [ P.T.O
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g0 T T ST <l Frar a0 AT o for v wrse -

W TR O ®)
(©) i ! D) gt ,
(B) IgaRa T -
ol ?f@aﬁmaﬁﬁw% e
(o =d (B) et "0
©) rd (D) e 2
(B gERawd ord
© maw&:wﬁmﬁ%ﬁasﬁ%wwﬁ-
() smE-awE a; | ® w-m o
(R AT - F (D) W -
(E)  3Tgafea ©w
g3 ufoiyes e ‘Valid’ﬁtsqgﬁ%aﬁ arefe
&) g 4 (B) 3
© i faferarr y
® garaws WO J
84 Choose the most appr;?;rtate English translation of the given sentence W
Eﬁﬁ»—cﬁaaﬂ‘rw@ﬁw
(A) The book was ’fél;n by Rudra why? (B) Why tear the book, R&Ziéia"
Why did Rudrg?gar the book? (D) Why the book was tor‘rﬁby Rudra?
(E) Question not agt;te_mpted ;,.s
85  Choose the most appropriate option to fill in the blanks: ;:
Do you know V‘" in London? Yes, my friend Arun lives nea; I:ondon. But in case he is
out of town, I will hag/ejj to go. 50
JX)/ anyone, nowhere; nothing ~ (B) anybody, somewhere, nowhere
(C) nobody, anywhére, something (D) someone, x, somewhere*
(E)  Question not aﬁémpted : H:‘
8 Choose the most appg‘j’};"‘ fate option to complete the sentence. ;:} ‘
In an official letter the ‘subject’ is ;:d‘

. gl
(.B‘)/brief, clear and relevant
(D) aslongaspossible g

(A) stretched and riefévant
(C)  vague and preiﬁe

(E)  Question not atpgmpted ;g;

8 Choose the most apprﬁ?:rmte word to complete the given sentence: of
Iwas advised not to I5iter _ thestreets after sunset. i
WL for r @5, it =
xg{’ ) about e

=4

(E) " Question not attempted

S17) 19
% [ P-T.Q..
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Match List-I with List-IT

List-I List-II
a. Munich is a large city the south of Germany. I at
b. Were there many people the concert on Friday? 1II. during
¢ Weshouldn’t speak eating. III. in
d. We didn’t speak the meal. IV. while

Choose the most appropriate answer from the

(A) a-ILb-1V,c-TI, d - | (B)
© a-1V,b-1lc-1I,d-1
(E)

Question not attempted

Choose the word closest in meaning to the underlined word:

options given below:
a-Lb-I,c-1I,d-1V
O a-ULb-Lc-1v,d-1 -

People thronged to pay homage to the departed leader.

(A) obedience (‘B)/tribute
(©) alienation (D)  humility
(E)  Question not attempted

Choose the word which is similar in meaning to RELINQUISH
(A) (B)

D)

offensive
abandon

B)

Question not attempted

When the minute hand covers a distance of 1 hr 25 min, then what is the

persist

residue

angular distance covered by it?

;!;r?qz‘oﬁg% 1 ¥ar 25 ﬁqzﬁaﬁww%,?ﬁmmwaﬁnﬁﬁvﬁwaﬁwﬁfﬁ?
510°

(B) 480°

450° D)

Question not attempted / 3TN ¥

©
(E)

375°

If ‘MEDICAL’ is written as ‘DEMILAC” in a certain code language, then how is

code?
4 ‘MEDICAL’ %I T %18 9T # ‘DEMILAC’ foran smar &, o
(A) MOCQELI ®)

Sy~ MOCPELI D)

‘COMPILE’ written in th:

‘COMPILE’aﬁwaﬁgﬁ%é%@rm

OMCPILE =
MOCPELO

(E)  Question not attempted / 3TN &1
T I e ‘
If the series S=1+ TS T = TTarsg T then sum of its infinite terms is:
1 1 1 .
o e + F vy T AU ST R AT R
qﬁ%ﬁs—]+l+z+l+2+3 142+3+4 ?
3
w51 ® 3
©® 3
<€ 2 2
(E) Question not attempted / 3T g1 MO C P‘ELY

20

[P.TO.
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o ! ©
%,C(e 6 % %O
) \ 0 %ﬁ - d
59 0 . of 5:6-F3°

Two numbers are in ratio of 21:26. If 8 is added to each number, then new numbers ar¢ in ratio
the ratio of numbers, if 2 is subtracted from each number. qﬁ{ g?a%ﬂ@" ﬁ
B EEATE 21:26 % S A & 4 S0F F 8 Sirgr i, i 78 wreArsit 0 ST 5:6 & ST @l
2 2RI ST A1 HEATST T ST Fa13q) _g&:(%
(A) 14 (B) 4:5 X3
O T18:25 D) 23

(E) Question not atternpted / ST T3

. e ol ent ?
A shopkeeper bought 6 articles for ¥ 5 and sold them at 4 articles for ¥ 6. Then what 1S his gain perc

fepelt AT 6 IR 5 AT I IR T 6% 4 el 3 ﬁmxmm,mmmw@ﬂ.
(A) 65% By 72% \ % ;O' %
©) 80% (D) 29% ¢ g
(E)  Question not attempted / 3TTANG ¥4 0 -3 ¥
The point A (13, 18), B (-5, 10), C (-13, -8) and D (5, 0) taken in that order are the verticesofa - Q\oﬁ
(A) Trapezium (B) Square )
(C) Rhombus : . (D) Rectangle

(E)  Question not attempted e

g A (13, 18), B (-5, 10), C (-13, -8) T D (5, 0) M S FA T ST TTY ERiEk

(A) S =g B) @t g g

sef wgt ©) s

(B) orgaiaws 1 o Y

Total surface area of cube is numerically equal to the volume of the cube, then find the diagonal of cube

(A) 63 units (B) /3 units =="
(C©) 243 units (D) 6 units

(E)  Question not attempted
@Wwwmammﬁ@mmmm%m%m%ﬁwqﬂwmwl

(A) 65 T B) 3 T

(9/ 243 gohré | D) 6T

() Srgafawy .

Four players A, B, C and D are standing in a field in such a way that B ig to East of A

Aand D is to North of A. D is standing in which direction of B? >~ 1810 the Sout, of
(A) North (B) North-West

(©  South (D) West

(E) " Question not attempted

RGN A, B, Cug D A FAeA AW ACATS A H @i B, 5

Moy 3
%lBaEﬁh‘qﬁgnﬁD@gT%? CaﬁTAéqaﬁ.{ﬁ
@) = ®) IWIRm ‘ Dy

%

© aftrr By

[ P-T. o
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Find the number of triangles in the given figures:

anﬁmﬁﬁsﬁﬁmw:
4] f
Uy

@A) 15 \fj B) 17

©) 14 ;N (D) 13

(E)  Question not ggéempted / A g

Shri Lal Joshi, Phad artist, belongs to which place in Rajasthan?
(A)  Jaipur O ‘ (B) -Sikar P
(C) Churu et (D) Bhilwara s
(E) Question not ﬁtgempted

S FHATH 2T T R TSR o foret T & wrifir €2 ¢
(A) SER O (B) i
© T n | @f e

E®) mﬁaw £

Who can remove thé Governor of a State? (Choose the most appropriate optlon from below:)
(A)  Chief Minister (B) President 5;‘;’

(C) Prime M‘nlstef_ge (D) ° Chief Justice of Trfdia

(E) Question not ﬁt§empted %;»

ST o USAUTHA ol HiFEeT TehaT 27 (ﬁﬁ%\@ﬁﬁﬁwﬁmﬁwaﬁ) o

@A) T O @y Tt

©) S LE S (D) w%g@m%ﬁw

® omar@wr L

On 2" October 19§4 who inaugurated the modern three tier system ofiPanchayati Raj in the Nagour
(Rajasthan). \'"5

(A) Mahatma Gatdhi (®) Jawahar Lal Nefity

(C) Sarojini Naidzg (D) Lal Bahadur Shé:gfg.ﬁ

(E) Question not attempted

e 2 s, 19593’ﬁ:ﬂfﬁ'{ (TISTEATT) | Urrrarelt TIF ot mﬁmﬁwmwmﬁmw

(A) e e g <) SETee e =
(©) wafert g I (D) T STRTGL St

®) wafawg &
The idea of ‘Welfare State’ in the Indian Constitution is enshrined in its @
(A) Fundamental Rights (B) Preamble L

(C) Seventh Scheﬂtsle
(E) Question not atfempted =
IRy wfra & “HEIIH e o7 R # fafea &1

(D) Directive Princip\!gs of State Policy

f~
(A) Tifees sifuen (B) WETEAT =
(©) 7dt ST : By T & AR e Ry

S171 st 22 [ P.T.O.
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, What is Himalayan yew (Taxus Wallichiana)?
0

(A) Atype of soil which is found in Himalayan region
B) A folk song of Himachal Pradesh

© A Medicinal tree

(D) Atype of Tribe

(E) Question not attempted

forTeTa  (SFE ATTCTTIATT) T /2

Ay T 0 O ST ST fReTeRr 8t 8 wram st (B)
(€ M T (D)
() SguRawA

The river of Rajasthan that drains into Arabian Sea is.
(A) Banas (B)
(C) Kantali (D)
(E) Question not attempted

T 3 98 T4t S o PR et & -

(A) ™ (B)
(C) Hiadr | Py
(E) rgaia s

Which one of the following rivers flows in a rift-valley?
(A) The Narmada B)
(C) The Gandak D)
(E) 'Question not attempted

Ffefaa & & it 7 fnfaremd & aedt 2

(A) e (B)

©) TieH oy

(E) raita o

7" Choose the most appropriate option to fill in the blank:

I Choos

1y
! Choog

E .
817] ) Question not attempted

Aditi has been working here
(A) six months ago (B)

‘}?( for six months /QT

) " Question not attempted

The old houses in town

(A)  are declaring
©  declare ()
(E)

Question not attempted
¢ the most appropriate option 1o fi X
~———___postman’s little boy said that he’d rather be

1 in the blanks:

becayge dentists don’t get called out | L L night, \

\_
@ The, a,a,x,x

© The, the a, x, x

(D)

23

h

FRmTeIcT ST T U A
ST 2T Tk JehI

Chambal
Luni

The Ravi
The Yamuna

et
RLCH)

el

six months before
since six months

¢ the most appropriate passive form of the word: ‘declare’ to fill in the blank.
unsafe by the authorities,

have been declareq
declared

dentist than

A, the, the, a, x
X, 4, a, a, the

R g Yt O SO 2



I “
The aumbers 24,34, 46, 48 Zx +1,4x+3,105,110, 114, 123 are written in ascend:ng order and the
e 77, The value of ¥ 15 “ ) L) 3
;% ¥ 24, 34, 46,48, :%» +1,4x+3,105,110, 114, 123 ﬁmm(mm)ﬁ%@mgaﬁw
m&qaw%ﬁ SRS e /@( e
A 22 [ Sais -
© 30 vl (D) 20 -
() Question not attempted / ST T
{11 There is 50% increase in an amount of money in 5 years, at simple interest. Whgt will be the compot
nterest on ¥ 15,000 after 3 gears at the same rate? el
wwﬁwmwﬁﬁmw% 3w 5t § 50% a?raﬁs:a‘r?ﬁ%l I BT T 15,000 F1 A
35 e Tl I R .
A) 4800 ‘o | (B) 4,900 oy
T 4,965 oo D) R 4,960 i
(E) Question not attemp?:i / mﬁﬁ g .. i
112 To boost economy and gettlng State Government approvals Rajasthan Micro, Small and Medium Enterpri
(Facilitation of Estabhshmwand Enforcement Amendment Act, 2023) has increased the period of exempti
to MSME from: et !
(A) 2yearstodyears L} " *(B) 4yearstoS5 years Z( z
(C) 3 yearstoS years = (D) 3 years to 4 years ﬁ:i
(E) Question not attempte - =
rferaET Y TEET e aﬁu@mﬁméﬁ%mmmﬂ maﬂtmwm(@maﬁtwé?
FR{RT Fe e, zogs)ﬁr @mmé(MSME)aﬁwaﬁaaﬁrwfr% 1
(A) 28499 (B) 4¥s5ad
C) 3@¥s5a¥ O 92)” 3g4ad ‘nf:
(B) SATaRawy it :;{’
113  The Rajasthap Panchayti R-'éjj‘Act (RPRA) came into force from: &t
(A)  April 1992 < (B) January 1992 &
(C) April 1994 “ﬁ (D) January 1994 v
(E)  Question not attempted ' ;‘l“*f
TSI YT U aqﬁ;ﬁqgﬂwm) /__ T A g vl
(A) 31T 1992 (B) S 1992 &
ST 1994 0 | (D) ST 1994 e
(E) ot uy b Ly
114 Integrated circuits (ICs) arewyelated to which generation of computers? ag
(A)  Second Generation 4 (B) Third Generation *r*l
(C)  Fourth Generation, (D) First Generation P
(E) Question not attempG v
e W (1Cs) e sters 25 g & i 27
c P T;;GET B TR
qd (D) T SR
S17) o 0
] @ 24 ‘(/\)—ﬂ v o " [P.T'
le It ’
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oration”
which of the following is the transistor’s capacity of the first microprocessor Produccd by Intel corp
et 5 2 1 gee TR g1 ffif vedy o e T 27
(a) 1800 ) 2300
© 2700 D) 1700

(0
(E) Question ndt'attempted / ITTARG w1 ot

which of the follo%vmg command of excel will take you to the next wdfkbook wind
=

@amﬁwﬁﬁ?ﬂwmmmwmﬁg}qam O

(A) Ctrl+Page Up (B) Ctrl +Shift +'F6 / Tab

(C) Cul+Fb ’ T?b By F6/ shift +:°?‘

() Question nlot attempted / IR

ow?

th from the right
Some girls are standing in a queue. If Kavita who is 11t from the left end-and Babita who is 9
§

are there in the
end interchange tﬂaelr positions, Kavita becomes 15 from the left eAd: How many girls

=

queue? iﬂ s . )
mag%m@qﬁﬁﬁ@:cﬁ%l FRATTR B 115 R ﬁnaﬁmﬁ%ﬁzﬁt% o3} porre O 21 AT I T

ﬁwwﬁmwﬁ?ﬁ FRaraRi sy 15%%Wwﬁ@m%aﬁa€%m%’>
25

M 25 f:: i
© v D) 21
(E) Question ngtattempted / AR T

)
Some students aré Standing in a row facing in same direction. If the position of John from left is 32 and from

right is 15, then hgw many students are there in the row? “53‘

mﬁmﬁ@ﬁ”ﬁ@ﬁﬁmﬁu@m@%%mﬁmwwamgﬁc% 3291 & T Il ST | ISHT%‘cﬁ

0

i i Fremft o e e 7 [ 0
- P

(A) 47 v “ Cl

(C) 48 D) 4 O b

(E)  Question n%?attempted/ T 94 =i Y

Pis the son of RgfR and Q are sisters; Z is the mother of Qand M is !g% son of Z. Which of the follow;

Statement is true‘?‘:g \Q
\ (B) RandM aré}jsters.

gl
(A) Misthe matgrnal uncle of P.
(D) MandP arg.cpusins,

© Qisthe g,:{i‘ffdmother of P.

() " Question not attempted

" Rap, g a8 2, Q A MM, 2 R
M, b a7 s (B) R@MW% %

© Q,Paﬁzr%/m:ﬁ% ®) M aﬂtpvﬁi\f’g\;ﬁgl P
E)  ryufa wD - %
Tehg s & P
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. ~ect statement in context of Bh;

0 Select thellzzortrhem in Hinduism he started t}}::SB(})lf Rajasthan
» T pritishers felt that the objective of thi a OVeme
® T onofa Bhil State. o

fo:zrganised monthly meetings of Sam

(©) HeO | and moral uplif ? W
| and moral upliftment of th . M :
@) For S?‘f)lz pot attempted © Bhils of 3jasthap aansflrh Hills,
1 ’
B L et e T 3wt & ST oy "1 Guru establigeg ¢,
e T T % T Smps
/(3{ 3t ﬁ‘ﬁﬂﬁ RELURNI Y @WW :
©) I8 arg gl 5 . : qTBTRﬁﬁmﬁ '“'Waé?!r'tﬁamm%é
(D) TheE T A T W%W@Tmm%l :
®) IRasa BRI o R,
121 Which of the following storage device can store max:
(A) Floppy disk aX(I];I;Um amount of daty9
(C) Optical disk ) Compa.ct disk
(E)  Question not attempted Hard disk
ettt o & o St e stRreram ar
), i e S S R i e
st foem (B)  ®irrae fown
() ha s ‘ D) = fews
122 Which of the following ; :
; ' g 18 used for spell checking ;i 12
¥ < : g in excel’
F:ﬁﬁm%%ﬁﬁwﬁﬁmmﬂ fofa ST 29
© F7 Eg)) ii
: E) g '
) Wichofag ppepp el ST
; qﬁgwmg function diSp!ays current system date in spreadsheet?
) Today ( H BRI TS & ey Ry feies weRifa s 2
© Totay g (B) Today { }
®)  Question ot (D) Today[ 1]
24 Which of the fo| ;-itter_np ted / STFRIG way
&) Alignmemowmg 18 NOT a character formatting in word processing tool?
©)  Effects (B) Underline
Quest (D) Font colour
S 1;)\: not attempted
ﬁé)’ Wy P BRI ¢ R ger 7 87
T ‘ .
) ® Hire el
s g Sy -
onetary aggi PSR e B
E ) iUbSidy slence given by Government for production atctnvmes is calle
i uota
® Quege @ op
% 10n Pg attempte d ( .
Q Wi %Wmawﬁmaﬁmmﬁ;ﬂﬁm :
Sl7 I N ” (d sy (D) [P-T"

26
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126 Heating the sulphide ores in the presence of excess of air is called:

(A) Roasting (B) Reduction ‘jf

(©)  Electrolysis (D) Calcination ;;«')

(E)  Question not attempted <

mimﬁmﬁmmﬁﬁmaﬁmmﬁ% Hf
S (flliall) &1{?? @6\ R r

= o

(?C Fo) (D) | P ()

sgat@ s

127 Anodising is: » “33

. o <ff

(A) forming a thick pxide layer on the metal surface i1}

(B) depositing a layériof zinc on metal surface =f!

) O

(C) oiling the metal %%rface _;

(D) painting the metalisurface e

TR

(E) Question not attgfﬁpted

MWWWWWEQW%W (B) wmm%maﬁwﬁ%ﬁﬁm

(C) g R W et ST D) wgﬁﬁraaﬂrn

E) FERETS %j
128 The electronic conﬁgumtlons of three elements A, B and C are:

A-z,s,B-2,8,7anhi’C 2,8,2. ’

Which of the followinggtatements is true?

(A) Bisametal :.mg

L]

(C) Bisanon-metaland Cisa metal. (D) Aisametal.

" (E)  Question not attefnpted
At A, B 3t C F gz fommd wa:
A-2,8:;B- 28731§f{C 2,8,2%
frferfaa o @rﬁqméﬁmw%?
A) BrFamd [ (B) CUH U
_er” B o & sC TG ©) Awugh
(E) qafcug
129 Which of the followmg ;s the precipitate i
& g i i 3 & o T oTaET 87
Na;S0; (aq) + BaCl, (ag) _ BaSO; (5) + 2NaCl (a)
(A) BaSO,(s) M (B)  BaCly(aq)
"’(er NaCl (aq) i"'i (D) NﬂgSO4(uq)
§

n the given reaction?

)

-9
(E) " Question not attgnipted / argaa o4

S17] ‘_@%

27

(B) Cisanon-metal.

=
i
F%,,
i

17164546 17164546

B T I

[Prg
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130 Match List-I with List-1T : .
List-T List-1I
(Reaction/Rcactant) (Effect)
3 Oxidation L. Gain of electron :
b.  Reduction II.  Electron accepting SPe":‘es
c Reducing agent . III.  Electron loosing Species
d. Oxidising agent IV. Loss of electron
Fe-T -1 @ g i
) eI g1l
(‘%.‘QT/W) s\ v THT) .
a. SATRTRTT L a2 hl Bty
b, SOEeA LSS ey e ol i (S
6. STuETEE L o En aret e (S
d.  ATHHRES V. s g
Choose the most appropriate answer from the options given below:
e g T ferepedt & & watfere SUgwh ST T :
(A) a-ILb-ILc-IV,d-1I B) a-Ib-IV,c-I,d-II
€y a-Lb-1V,c-1,d-1II (D) a-IV,b-Ic-I0,d-1I

(E) Question not attempted / ﬂ@ﬁf{ﬁ' BEl
131  Select the incorrecty matched pair of National Park and the state. (Choose the most appropriate option fro

below:)
(A)  Satpura National Park - Tamil Nadu (B) Kevla Dev National Park - Rajasthan
(C) Kajiranga National Park - Assam (D) Bandipur National Park - Karnataka

(E) Question not attempted

TSI I FUT T o FAA SIS 1 == hl (P & & Tl S0 forened <1)

AT U Ser-afeerrg (B) hIeE TSI SeTH-TISreer
(C) SIS U JeH-3Te0 (D) SR TR ST-Hiesh
(E) Sruiauy

132 Select the method used for calculation of real value of good seed.
Germination percent x Purity percent

(A) G (B) Germu}atlon percent <100
Purity percent
2 (Germination percent + Purity percent Puri
©) o ty p ) (D) ty percent 100

Germination percent

(E)  Question not attempted

@mm%mm%m%mwzﬁaﬁmﬁﬁxﬁgﬁm

e .

() FETT IR X ggan wipara (B a@-wruﬁlsmxmo
100 AT Wi

(2 (ST TR +- gy whrra) gea T oo
100 S wiera

B) gafaud

, .
S17] ol 53 [P-T.
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N ea
1 . . del in P
33 Select the incorrectly matched combination of characters and contrasting traits studied by Men

(A) Seed Shape : Round / Wrinkled

(B)  Flower position : Axial / terminal
©) Pod. Colour : White/ yellow

. _— q (D)  Seed Colour : Yellow / green
(E) Question not attempte

mmmmﬁqﬁaﬁmaﬁr?ﬁ%@ﬂammﬁw,
;?Taﬁmmm : e/ giffan B oo feaf : s efrdeT
(© wFT: W/ e (D) st T @ : e 0
® . - | tients,
34 Anbio-active molecule, » that is used as an immunosuppressive agent in organ-transplant pa
produced by a fungus.
(A) statins (B) cyclosporin A
(C) lactic acid (D) streptokinase
Question not attempted ) )
(Ql;)q%q@a’mg_—, ISGEIREIU) mqﬁﬁwﬁuﬁtmﬁﬁwmé;wﬁﬁﬁm’fﬁﬁwm%, Eeal
e T hdeh U Tohar ST 21 bf(
&) =i B wrEiEiE-T
©) Affes s (D) TR
(E) SIaiaud
135  Select the incorrectly matched pair of plant and its econpmically important part.
(A) Papaver somniferum - fruit (B) Emblica officinalis - fruit
(C) Cinchona officinalis -Bark (D) Centella asiatica - Bark

(E) Question not attempted
TR S e ST Ta el ST ¥ ek St a1 S L ZHl

(A) TREHEE - B R SRR - e
©€) T sirARAfE - Bl (D) ¥ee uRrefeT - o1t
(E) Irgai@yd .
36 Choose the most appropriate English word for the given word- Stz
(A) Seizure (B) Regulation
Abatement (D) Deferred

(E)  Question not attempted . .
137 Choose the most appropriate word to complete the following sentence:

An inscription on a tombstone is termed as __———— .
(A) (B) anepitaph

a grave
i’ (D) acemetery
a sermon

(E)  Question not attempted i
S/Ch}ge the word opposite in meaning to ERUDITE
A) Illiterate )

(C) Learned (D) Boring

(E)  Question not attempted

817y o5 ' 29
[(Prq

13
(B) Crude
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In which Indian state the rare butterfly ‘Neptis Philyra’ has been discovered?

(A)  Arunachal 3}:§(1c511 (B) Himachal Pradesh

(C) Jammu nndi Kashmir (D) Uttarakhand .
(E)  Question npt attempted ]
et forreft e et ot ier st % foper ey oy rd 0 )
(A) ST W4T B) fm@wm
©) s\ w7l oy T @0
(E) 5 'x?‘s
Who has become :th;: first woman scientist to win the ‘G. D. Birla Award’ fo% é(_:ientiﬁc research?
(A) Dr. Aditi Sge‘?}De (B) Dr. Rani Chatterjé’c_:"' g
(C) M. Fatima Bibi (D) Sipra Guha Mukherjee
(E) Question np}?pttempted { :_'
iR SR R <t < et weeTe Sfvr e v asrrﬁa?am%,:ﬁv
&) < RREH St o
© wwREHES O) fwmEigest g
(E) 31&?{1’{?1‘3{%]‘;5 rri

Out of 2000 employees in an office, 52% are graduates. 60% of the employee;s\'?a:re male and 50% of then
employees are gra%c}yates. Then how many female employees are graduates? ™

2000%3@%1? 52% T T 60% FET T & 3T 50% Tow Frardt T 8 e 7

FHE 1 87 50 »@:
@ 40 = \6) 440 i
{6 2
(©) 460 fvc (D) 410 <
(E)  Question not attempted / 3TTaRe g1 Lo
The value of logy27,+ log,79 is: |
L . =
loge27 + log,,9 I A 2: >
(A) 13/6 o - B) 12 i
©7 95 ot (D) 5/6
(E)  Question npt attempted / aﬂﬁﬁﬁ' e (U4

In the figure givéﬁ’;’i)eIOW, PQR is a triangle. QR is parallel to PM, If QR:E%{, then what is the val®

ZRPM? Y ad,
g a@ﬁiﬁqa T PIST 81 QR , PM 3 e 1 aft Qr=pR R, TN RPM 7 7 AT

Q T ‘g PI

™
v
R

/ - \0)

S

ey ‘Q

(A) 80° E:i (B) 100° 0]
©€) 95° i (D) 70° v
(E) Question not attcmpted/?ﬂ'ﬁﬁﬂ a4 ‘ ™

' 0
S17] @ 30 M . [P,T-
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144 Vikram Sarabhai Space Centre is located at-

(A) Thiruvananthapuram (B)  Sriharikota
(C)  Hyderabad (D)  Bengaluru
(E)  Question not attempted
FRTITE VE deT (3fafier hy) feua -
foreaagm B) et
© e
(E) STguiasd '\% ]
145 A coil of wire has an area of 600 sq cm and has 500 turns. If it carries 1. 5 A current, its magnetic dipole
moment is -
(A) 15Am? (B) 30 Am?
(C) 45An? (D) 10 Am?

(E)  Question not attempted , »
T 500 31 T AT Y Ut oA b 600 it 1 wf e 1.5&%3@3%%@%%%&??@@

1 TR e AT © - -
(A) 15 YfErR e (B) 30 YfrrErHie?
(C) 45 VfqaHIT (D) 10 YfewETHIE?
(B) Sgaiawsr
146 When the cornea is not spherical in shape, the defect of vision in this eye is called -
Aa) Hypermetropxa “ (B) Astigmatism
(C) Cataract " (D) Myopia

(E) Question not attempted '

S FARRT (EreHe) TR TE 81T 8, ﬁmw%ﬁaﬁq&aﬁraﬂ@m%

(A) TS B) uRemfesT (3tfeigeHan)
ECAGIRRIE) (D) =T (Feegf®)
(E) gai@
147 “sifrg g i fafea 3oe -
(A AT @) 7
© 3 ®)
(E) gai@ayd
148 ?wﬁmwwﬁx% i)
&g (B) ol If i1
© ™ ; (D) T |
(B) SIgaia 94
149 ﬁmﬁaﬁaﬁw%mﬁmqﬁm‘eﬁ?
(a) v /aaa/mﬁw
() T= (D) W
() af@yd
150  re] 36 ST Ot e o fehary e 9E B €7 \

£5 .
_ 31ms
) FaRa v .

S17] % 31

[PTq






